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M odedl Question Paper
Sfiq fasi<  Biology
aiftfe sexfifsue udier—2021

TimeAllowed : 3Hours Full Marks-70
Pass Marks—23

Candidates are required to give their answersin their own wards as far as practicable.
gdtermeft Jer=ieta 3ruar orsEl H & I T |

General Instructions : JraTeRr_forder
Q. Nos. 1 to 20 are Multiple choice/objective Type each of 1 mark.
U JAJAT 1 A 20 b ITGABCUIT/AIITS Ueel Ud 1 3ih &I 2 |
Q. Nos.21to 27 areFill inthe blank Type each of 1 Mark.
U JFJAT 21 A 27 ddb Rad Teme &t gid I Adfera ues 2
Uib 1 3ih Bl 2
Q. N0s.28 to 34 are very short Answer (VSA) Type each of 2 Marks
U9 JASAT 28 A 34 ddb 3ifd ILITIT U UAB 2 3icb ol 2|
Q. Nos. 35 to 39 are short Answer Type each of 3 marks.
U JFJAT 35 A 39 dh o ITAT U UAb 3 3k &
Q. Nos. 40 and 41 are Long Answer Type each of 7 Marks.
U9l JJAT 40 I 41 e ITAAT Ul UAb 7 3k bl |

This question paper consists of five Groups A, B,C,D and E.
swusawﬁmaﬂajg%maﬂa@aél
All sections are compulsory Z78ft =1us 3tferarsf 2 |

Group A gvs—31
(Multiple choice/objective Type question) (@gfamredi=r/azgiers ues)

Choose the correct answer A&t 3= &1 Fad B 1X20=20

1. oSy et &F 3fiaRe ura ot fAeriefiar el & diver uare

HxA B, 98 & -
The innermost layer of the micro sporangia which nourishes the developing pollen grainsis -
(A) dieogeiel 39k Sporogenoustissue  (B) ag filament

(C) cdies tapetum (D) aia: =ver intine

2. 3 UAOT b THE FAsed F FAST B Uil b fohaa fauda ogion &

SIERCI G
How many pairs of contrasting characters of per plant did Mendel select for his
experiments ?
(A) 14 S8 14 pairs (B) 2 =g 2pairs
(C) 1 s 1par (D) 4 oW 7 par
3. TATGHISIH P Glldel dch H, ifdlh Gladel feldeiiaizaa o A b uzurdt

H HAdYed aBIdT & ?

During the life cycle of plasmodium, sexual reproduction takes place in which of

the following hosts ?



10.

(A) &ATeTd Human (B) #HIeT TUelweollel =2 Femae
Anopheles mosquito
(C) sr veawelst #H=R Mde (D) (A)wda (B)<cret Both (a) and (b)
Anopheles mosquito
HATTa HAST H 3isoiada & ufchar b 3razenm & 318 ardl & 2

At which stage of lifeis Oogenesisinitiated in a human female ?

(A) ANagersTr & AT Atpuberty (B) Iohieefer @ JIa=r during menarch

(C) <oifergfa & JAFT (D) aofir uRasa & JAdxT
During menopause During embryonic development

ghiaie F DNA @t ufaeghar St 2-

In Eukaryotes the replication of DNA takes place at-

(A) Surazemr H Sphase (B) Gurazem & G phase

(C©) G2urazermr & G2 phase (D) Gourazemr & Go phase

ATHATRT GhIA I bR a— he common cold is caused by-

(A) <rsefrarszx Rhino viruses (B) ICIBIbHA gHTe!

Streptococcus pneumoniae
(C) ATTHISTAT SISWHIFRISTH (D) TAToHITSTH dTSdad=T
Salmonella typhimurium Plasmodium vivax
feroatTeiiRsaa & A P Uladdead Usiied bl Udh IS0l & ?
Which of the following is an example of Restriction endonuclease ?

(A) sowmieg E. Coli (B) f&== 1 HIND I

(©) <roweroro DNA (D) et A wig =& Noneof these
UTRRerast ueshd @t 3TgReId SHIs e— Basic unit of ecological hierarchy is -
(A) <Sha individua (B) =afe population

(C) JIger™= community (D) urid= ecosystem

DDT & 3Ma9l¥ 378l Il A doit A U & oid & 3N Sa srmagla
P BRP deld &, =itk DDT-

DDT residues are rapidly passed through food chain causing biomagnification
because DDT is -

(A)oieT H gorerefier @ Water soluble

(B) Toifus & geterefier & Lipid Soluble

(C)FerH fadem @ moderately toxic

(D) Sieti=r Sial & e fadeim s7ét & non-toxic to aquatic animals

diar HArge 3ia: oreterrit g ¥ Aifaa diar smrer-

Cu ions released from copper-releasing intra uterine devices (IlUDS)

(A) oTAfeTT BT 3iatuer B fU 3rgugerd wertar &1 Makes uterus unsuitable
for implantation

(B) QIhTUI3TT &5 814TIUITh=IT @bl &gl T & increase phagocytosis of sperms

(C) greprugail @5t orfcrefieTar @ a1 war & suppress sperm motility

(D) 3TSIcTol @B 3Tdmeg bdl & Prevent ovulation




11.

12.

13.

14.

15.

16.

17.

18.

FHBAT BT d& HET ST URIOT B 37chel Uhid bl orelizor &war & a&—
The part of the gynocium that determines the compatible nature of pollenis -

(A) afdeprar & stigma (B)afdepr & Style

(C) 3fsTerr & ovary (D) T&T=™I B3PIy & Synergids

foroetiaiRaa & A T JAB0T & ERT o9 T dled Oy & AATe
arggura facior 2

Which of the following crosses will give tall and dwarf plantsin same proportions ?
(A)TT X tt B) Tt X tt OTT XTt D) Tt X Tt

Ud SIOTSAO0TO Isocs H HIAIdICIES ....oeeee.. B BRI 3MTA H T3
gra

In aDNA strand the nucleotides are linked together by-

(A) seTTsmATSS der  glycosidic bond

(B) lrahrsstze der phosphodiester bond

(C)Uwerss oer peptide bond

(D) Ta—aer H-bond

fereatteifRsa & blel HIV & UATR bl blReb <ial & ?
Which of the following is not a cause of transenission of HIV ?
(A) fafétesr Srer FTRT Multiple sexual partners

(B) IAshiAd I3 T s=aATar sharing infected needles
(C)HATBT BT hIcaT mosquito bite

(D) JgfSa zaa o1 3frerrel  Transfusion of contaminated blood
IA=IeTes »T A RNA,DNA A (i) fepamefiar 31T (i) e 21
Chemically RNA is (i) reactiveand (ii) stablethan DNA.

@ () =AATET  equally (i) AT equaly

(b) (i) P less (i) 31f&res more
(c) () 31f&d  more (i) @A less
(d) (i) 31f&s  more (i) JHATT more

dareg H U STl AR IATT 8-

The addictive chemical present in tobacco is -

(A) Bfteer  Caffeine (B) ferepifeer nicotine

(C) epiar Catechol (D) Serafet Aveliar=ATss  Carbon monoxide
freafeiRaa & 3 Her A ufeem €ovstovo 3igrefll =it & owstovo
& yasa a1 potea & U Iuier A e Sl @ 9

Which of the following is a process used for amplification or multiplication of
DNA in DNA fingerprinting ?

(A) ATIest saiiiear Southern blotting (B) =Tefst saittear Northern blotting

(C) dTeftarst aef Ruaerer Polymerase chain Reaction

(D)setd A wHIs et Noneof these

Sa fpar wRe & ufdams 3azem A o & v yarm wa &2
Organisms show migration in order to avoid unfavorable condition of which factor?




19.

20.

21.

22.

23.

24.

25.

(A) aTgHATeT  temperature (B) aftstel @I 3rgfuateerar food unavailability
(C)aut precipitation (D) et = At All of these

RreateiRaa & JF B J1 dhAwr ARAT @ A argdl A Eeare aryg
uguuT &I e wrar @ e 3u=elt B2

Which of the following is the way to control vehicular air pollution in Indian cities ?

(A) aTesit A oieTpelel Uglar o1 3u=iter  Use of unleaded petrol

(B) arselt # 3B uRadat @1 Iu=aier Use of catalytic converter in the vehicles
(C)CNG T Sered o H»a A u=Ier Use of CNG asfuel

(D) zetat A et All of these

XOwd XY "z b1 foior fererfzor .............. BT ISTE0T 8 |

XO type of sex determination and XY type of sex determination are the examples
of -

(A) FATET TauageHsw! female heterogamete

(B) sz AHAYoADT Male Homogamety

(C)er Tauw=rgeaAast Male heterogamete

(D) () wa (C)=ret both (b) and (€)

GROUP-B/zroe—=
(Fill in the blanks) 1X7=7
Raa et @t gfe)
T o0 gy & A JEl e BT gATd B2 TSl AT Bl #3 |
Fill in the blanks by choosing correct word from the given box.

UIYhIRh, STOTA0TO0 dISdIsl, Uolddl, AToTaA0G0,
ufarsteit—ufazeft, Ta—ufazeht, ufa=usefi, I=mrws, ufa-uame

trophoblast, DNA ligase, Generative, CNG, Antigen-Atibody, Auto-immune,
competitive, promoter, Anti-codon.

SI0TWT0TO HTS, .......... B ASTAT A 3MTA H TS oifd & |

DNA fragments can be joined together using ..........

ELISA (TATSS) ............ g3 Rigia uzT &l &=ar 81

ELISA isbased on the principleof .............. Interaction.

UIMST BT Bl e PIIBT TJATSIel B TAT & o YoHAD® Bl
ferafor Bzt B

............ cell of the pollen grain divides to form two male gametes.

STHATAT Hferemler Th ................ T B

Rheumatoid arthritisisan ................ disease

UgleT U Stoied &t gotell H ... ST 315 A SlcAdl & |



27.

28.

29.

30.

31.

32.

33.

34.

35.

............ Sl0UT0TO0 31U BT I8 IATeT & Gial fgarsel & AT RNA
UTcfiadsT del oirar 2|
............ is the site of DNA molecule at which RNA polymerase binds during

transcription.
BRBYE BN ATH A& UIT oo FHEATAT & |
The outermost layer of blastocystiscaledas.............

GROUP-C/&vs—3
(Very Short Answer Type question) 2X7=14
31T Tg3T=IT Uee
SIaToail & HIRUT Eleldicl & sl o o1 fors |
Write the name of two disease caused by bacteria.

FAIfeioT Jarass =T & ? TP ISTE0T 2 |
What is a cloning vector ? Give one example.
gf¥aTitid @63 — Define-

(i) FAectoetar Linkage (i) agareiiarar Multiple Allelism.
IeHtcTuRreToll gog om P oI el goal A UT-URIeToT EIaT & ?
What are chasmogamous flower ? can cross pollination occur in these flowers ?

RNA® &1 H3T BRIt b ferst | Write two important function of RNA.,

HIS UISIel RIT & ? hlel AT oild s UIcel bl 3cdieel hdl & ?
What is Cry protein ? Which organism produces Cry protein ?

3Meaifdts fawmRr = & ? FAscliaa R @i @1 3arezor &
What is genetic disorder ? Give example of two Mendelain disorder.

GROUP-D/&19s—2
(Short Answer Type question) 3X5=15

Sg3ANT U
Tu oe =" & A,Bud Cat Usdare s |

In the given picture, identify A, B and C.




36.

37.

38.

309.

40.

41.

gfc=err @=r 2 ? SibrepIor, Ufaell A $A Adfdd & ?
What isimmunity ? How vaccination is related with the immunity ?

geidiciad S10TUSTOTO0 ddbeiles d  Ufddeel UolisdA HA 3udieil 29
yfcardielel USITSH bl TUdb 3ST830T ¢ |

How restriction Enzymes are useful in Recombinant DNA Technology? Give example of
one restriction enzyme.

JARe @t hedl diel Fgcayel Rowasit @« o= ©vd 3aa Aféra
ST B3 |
List any three important characteristics of a population and explain in brief about them.
FoT Ud Uchisdd UG A 3T FT JAIA & ? JAHa forem 3=
HAlGelel SHA Iael B U Fagddl Bl ASIAT BA BT ABAl & ?
What do you understand by drug and alcohol abuse ? How proper education and guidance
can help youth to safeguard themselves from it ?
GROUP-E/zrvs—3
(Long Answer Type question) TX2=14
e 3T uee
(@ gebia famra @1 fafdtesr srasenaii &l @olfd U #ATad 3isSerT bl
UF arHAITBa =’ <0 |
(b) Sexr Sufaat ol JAdre utel &g JSIAT oo drell & fafe=ai aaro |
() Draw awell labeled diagram of human ovary showing various stages of follicular

development.
(b) Suggest two methods to assist infertile couples to have children.

OR/3terar

3rgaslforal 3 gy Selel @t UhaT @l SRITSAT b3 |

Describe the process of microsporogenesis in angiosperms.

BTFAIRA: HUiARd  oid’ A 3T =T TAAIT & 2 IMIdiidrhd:

HUiaRa WY BT UBR HrRISHET & ? 31U 392 & IAdT & o uh

3QTEI0T & |

What do you mean by ‘Genetically modified organisms (GMO) ? How genetically

modified plants are beneficial? Give one example in support of your answer.
OR/3terar

S 3TUTdee R=IT & ? oA 31gidree & fafdtes 3Iugme o= € 2
What are solid wastes ? What are the various remedies for solid wastes?



